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Q.No.1: Tick the right option: (10*1=10)

1 Conditional operator takes......operands.

3 2 1 E
2 Which keyword is not used in switch statement?

Default | if | case | Switch
3 The case block ends with:

End select ‘ End case ‘ break ‘ Case else
4 In if statement false is represented by:

0 E | 2 3
5 Which operator is called ternary operator:

& | ? ‘ ++ | All of these
6 Relational operators allow you to....... numbers.

compare ‘ Add ‘ multiply ‘ Divide
7 The expression may be:

Relational | Logical ‘ Compound | Aorb
8 Conditional operator is an alternative of:

Nested if | If-else ‘ Nested-if-else ’ If
9 If x=10 and y=5, what will be the output? X>Y? x*y: x+y;

5 | 10 | 15 | 50
10 | ... is a group of statements enclosed in braces.

Compound Switch if If-else

statement
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Q.No.2: Short Questions:

l.
1.
1.
V.
V.
VI.
VII.

Q.No.3: Long Question:

SECTION-I
(7*2=14)
What is conditional operator?
Write a program which check year is leap year or not a leap year.
What is control structure?
What is the limitation of simple if statement?
What is nested if statement?
Write three advantages of switch statement in ¢ language.
Write in ternary form.
if (a>50)
n=1;
else
n=o;
SECTION-II
(8*2=16)

1. What is switch statement? Explain its working with example.
2.Write a note on if —else statement with example.
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